
Instructions for:
Motorcycle Dolly - Side Stand Type 
MODEL No: Ms063

Thank you for purchasing a Sealey product. Manufactured to a high standard this product will, if used according to these instructions and 
properly maintained, give you years of trouble free performance.

	 1.	 SAFETY INSTRUCTIONS

	 2.	introduction /SPECIFICATION

	 Maintain the dolly in good condition (use an authorised service agent).
	R eplace or repair damaged parts. Use genuine parts only. Unauthorised parts may be dangerous and will invalidate the warranty.
	 Locate the dolly in a suitable work area. Keep area clean and tidy and free from unrelated materials, and ensure that there is adequate 		
	 lighting. 	
	 Ensure that the floor is level and strong enough (preferably concrete) to take the weight of the dolly and the motorcycle. DO NOT use the 	
	 dolly on tarmacadam, as the surface may be unstable.
	 Keep the dolly clean for best and safest performance.
  The maximum motorcycle weight is 565kg. DO NOT exceed this rated capacity.
	U se appropriate straps to secure the motorcycle to the dolly when manoeuvring.
	 Pull rather than push the motorcycle when manoeuvring on the dolly to reduce the risk of pushing the motorcycle off its side stand.
	 Maintain correct balance and footing, DO NOT over reach. Ensure the floor is not slippery and wear non-slip shoes. 
	 Keep children and unauthorised persons away from the work area.
	 DO NOT use the dolly for a task it is not designed to perform.
	 DO NOT use the dolly if it is damaged.
	 DO NOT use the dolly when you are tired or under the influence of alcohol, drugs or intoxicating medication.
	 DO NOT allow untrained persons to use the dolly.
	 DO NOT make any modifications to the dolly.	
	 Before storing in safe area, ensure that all parts are clean and free of grease and oil.

WARNING: The warnings, cautions and instructions in this manual cannot cover all possible conditions and situations that may 
occur. It must be understood that common sense and caution are factors which cannot be built into this product, but must be 
applied by the operator. 

IMPORTANT: PLEASE READ THESE INSTRUCTIONS CAREFULLY. NOTE THE SAFE OPERATIONAL REQUIREMENTS, WARNINGS AND CAUTIONS. 
USE THE PRODUCT CORRECTLY AND WITH CARE FOR THE PURPOSE FOR WHICH IT IS INTENDED. FAILURE TO DO SO MAY CAUSE 
DAMAGE AND/OR PERSONAL INJURY AND WILL INVALIDATE THE WARRANTY. PLEASE KEEP INSTRUCTIONS SAFE FOR FUTURE USE.

2.2. Specification:
Capacity . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 565kg
Overall Dimensions (L x W x H) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                   2120 x 770 x 90mm
Loading track Dimensions (L x W x H) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                              2000 x 200 x 50mm

Original Language Version MS063      Issue: 1 - 27/07/12

2.1. Introduction
Motorcycle dolly holds a single motorcycle or sport bike with side stand, weighing up to 565kgs. Easy manoeuvring around the workshop or 
garage. Front and rear lever operated wedge gates allow for easy loading and unloading to the loading track. Includes a five position side stand 
platform to fit varied length side stand, front/rear steel pins to keep the motorcycle on the dolly during moving, and smooth rolling dual castor 
wheels. 

© Jack Sealey Limited 2012 



Original Language Version MS063       Issue: 1 - 27/07/12

3.1.	 Assembly
	 Unpack the dolly and check contents with list above. Should there be any damaged or missing parts contact your supplier 		
	 immediately. Numbers in brackets refer to item numbers in fig.1.
3.1.1. 	 Attach the castors (2) to the frame assembly (1) and the platform (17) using M6 x 16 bolts (3), flat washers Ø6 (4), lock washers Ø6 		
	 (5) and nut M6 (6).
3.1.2.	C onnect the frame assemblies (1) with the connecting bars (16) using M8 x 55 bolts (11), flat washers Ø8 (12), lock washers Ø8 and 		
	 nuts M8 (14).
3.1.3.	F it the platform (17) using screws M8 (15), flat washers Ø8 (12), lock washers Ø8 (13) and nuts M8 (14). The frame assemblies (1) 		
	 have six holes for fitting the platform (17) in various positions to suit the particular motorcycle side stand position.
3.1.4	F it the connecting plates (7) to the wedge gates (9) and (18). Attach the connecting plates (7) to the frame assemblies (1) using 		
	 screws M6 (8), flat washers Ø6 (4), lock washers Ø6 (5) and nuts M6 (6).
3.1.5.	 Insert the stop pins (10) in to the slots in the frame assembly (1).
3.1.6.	C heck that all fasteners are fully tightened. 

Item Description Qty Item Description Qty
1 Frame Assembly 2 10 Stop Pin 2

2 Castor 5 11 Bolt M8 x 55 8

3 Bolt M6 x 16 20 12 Flat Washer Ø8 10

4 Flat Washer Ø6 28 13 Lock Washer Ø8 10

5 Lock Washer Ø6 28 14 Nut M8 10

6 Nut M6 28 15 Screw M8 2

7 Connecting Plate 4 16 Connecting Bar 2

8 Screw M6 8 17 Platform 1

9 Wedge Gate 'A' 1 18 Wedge Gate 'B' 1

3.	a SSEMBLY

	 4.	operation
  	 WARNING! Ensure that you read, understand and apply the safety instructions before use.
	 WARNING! DO NOT attempt to overload the dolly. 
4.1.	 Loading
4.1.1	 Position the dolly in a suitable area, checking that the surface on which the dolly will be used is solid and flat (preferably concrete). 
4.1.2	 Lower the wedge gates (9) and (18) to hold the dolly in position.
4.1.3	R emove the stop pin (10) from the frame assembly (1) at the end of the dolly the motorcycle is to be loaded.
4.1.4	 Push the motorcycle on to the dolly and support with the side stand on the platform (17) and replace the stop pin (10).
4.1.5.	S ecure the motorcycle using suitable straps.
4.1.6.	 Lift the wedge gates (9) and (18) to allow the dolly to be manoeuvred.

fig.1

© Jack Sealey Limited 2012 



NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of this product. 
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim. 
INFORMATION: For a copy of our latest catalogue and promotions call us on 01284 757525 and leave your full name and address, including postcode.

01284 757500

01284 703534 sales@sealey.co.uk

Sole UK Distributor, Sealey Group, 
Kempson Way, Suffolk Business Park, 
Bury St. Edmunds, Suffolk,
IP32 7AR

www.sealey.co.uk
Web

email

Parts support is available for this product. To obtain a parts listing and/or diagram, please log on to www.sealey.co.uk, 
email sales@sealey.co.uk or phone 01284 757500.

Original Language Version MS063       Issue: 1 - 27/07/12

4.2.	 Unloading
4.2.1.	 Lower the wedge gates (9) and (18) to hold the dolly in position.
4.2.2	R emove the straps securing the motorcycle.
4.2.3.	R emove the stop pin (10) from the frame assembly (1) at the end of the dolly the motorcycle is to be unloaded.
4.2.4.	 Lift the side stand and remove the motorcycle from the dolly.
4.2.5.	R eplace the stop pin (10).
4.2.6.	S tore the dolly in a safe, dry, childproof location with the wedge gates (9) and (18) lowered.	 	

	 5.	maintenance
5.1.	 Maintenance
5.1.1.	 Before use, check the frame assembly (1) and platform (17) for cracks and damage. 
5.1.2.	R egularly check that all fasteners are tight.	
5.1.3.	 Periodically lubricate the castors. 	
	 	

© Jack Sealey Limited 2012 


